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. Find the general solution for y.
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(b) x*y"—dxy'=(x*~6)y=0 (15%)

Solve the following the differential equation for y(#) using Laplace transform.
Y 3y 2y ="+ Du-3), y0)=0, y'(0)=0
where u(?) is the unit step function.  (20%)

. (2) Find the Fourier series of the function f(x)= %7[ —]‘xl for —r<x<zm. (15%)

(b) Use the answer of (a) to find the sum of infinite series 1i2+ 3% + —517 + 7% +o (5%)

Consider the line integral JC Fed7  where 7 isthe position vector,

F=-2y f’+(2.x3 +¢os y)f, C: x*+y*=1, z=0 (clockwise).

(a) Is the line integral independent of path? Why? (5%)
(b) Evaluate the line integral.  (10%)

Solve the following partial differential equation for 7"

2 2
6.’{“+877":O for 0<x<2, y>0
ox~ oy

with boundary conditions 7'(0,y)=7(2,y)=0, T(x,0)=1 and T(x,0)=0. (20%)




